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Solve each problem.

1) 9,190,000 ÷ 10 3 = 9,190 2) 9.524 × 10 2 = 952.4

3) 1.826 ÷ 10 1 = 0.1826 4) 5 × 10 1 = 50

5) 40 ÷ 10 1 = 4 6) 0.4294 × 10 3 = 429.4

7) 614.7 ÷ 10 4 = 0.06147 8) 1 × 10 4 = 10,000

9) 70,000 ÷ 10 2 = 700 10) 5.715 × 10 1 = 57.15

11) 0.8766 ÷ 10 3 = 0.0008766 12) 9 × 10 3 = 9,000

13) 62,000 ÷ 10 3 = 62 14) 0.4816 × 10 2 = 48.16

15) 269.8 ÷ 10 3 = 0.2698 16) 9 × 10 4 = 90,000

17) 7,000 ÷ 10 1 = 700 18) 108.7 × 10 2 = 10,870

19) 39.88 ÷ 10 1 = 3.988 20) 38 × 10 1 = 380

Answers

1. ÷ 10 3

2. × 10 2

3. ÷ 10 1

4. × 10 1

5. ÷ 10 1

6. × 10 3

7. ÷ 10 4

8. × 10 4

9. ÷ 10 2

10. × 10 1

11. ÷ 10 3

12. × 10 3

13. ÷ 10 3

14. × 10 2

15. ÷ 10 3

16. × 10 4

17. ÷ 10 1

18. × 10 2

19. ÷ 10 1

20. × 10 1
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